Enghsh First, Additional angque

Assessment. Term 3

Grade 3

Ncme cnd Surnqme:

Date:
TASK | - MEMORANDUM
Content Mark
10
A Listening and sPeqkinS
2. Reqcling 0
3. Phonics 0
L. Longuage 20
5. Wr‘iting >0
100
Tot.dl




Listening and SPeqking

Gives a shor‘t or‘c1| recount O'F a Per‘soncﬂ exPer‘ience or event.

Draw a Pictur‘e of your exPer‘ience.

Lecrners own c|r‘cwin9.




Listening and Speakins Rubric

I 2 3 L
Vocabu|ar‘3 and Str-u33|es to Uses a limited Uses appropriote Uses a
|an3uage use communicate vocabu|cr~3. Makes vocabu|cr~3. Talks comprehensive
ef'f ective|3, imited many in Tull sentences voccbulorﬂ. Talks in
vocobu|ar~3. Cannot Srammqticcﬂ and sPecks in the | full sentences and
Print himself /herself’. | errors. correct time, uses correct and

eg. Past, future
or Present.

SOOd |<Jn9uc|9e. Use

descript,ive words.

APPPOPPiQte Volume

Tdlks too sof't or

Tdlks too fast.

TG”(S SlOWlH and

TQ”(S SlOWlS Ghd

and intonation mumbles. Dif fiicult. to | Sometimes c|ear‘|3. ECISH to c|ec|r‘|3. Can be ecusi|3
understand and hear. dif flicult. to understand. Can | heard and
understand. be heard clearl understood at dll
most. of the times.
time.
Content, Learner doesn't Limited content. Spontoneous. Spontaneous and
Par-ticipate. Doesn't Teacher must ask | Provides elaborative.
want to t,r‘3 to sive adequate Content Pr‘ovides

an oral recount.

questions to Set
c|cr‘it,3.

content which is
exPectecl of the
learner.

more inf ormation

than exPectecl.

Ege contact and boclld

|an9uase

The learner doesn't
make eye contact
and doesn't. make use

O'F bOClH |cn9ucse‘

The learner's eye
contact and bodﬂ
|cn9uc13e are
limited.

The learner
makes eye
contact some of
the time and
sometimes makes
use of bodg

|cn3ucge.

The learner makes
eye contact with
the class and
teacher and makes
use of oppropriote
bodﬁ |an3uose.

Ask c]'uestions for
c|ar*it3

The learner has to ask
questions the whole
time for c|ar~it3
because he seldom
Sives attention when

Siven instructions.

The learner has to
ask questions
some times for
c|cr*it3 because he
seldom Sives

attention when

The learner has
to ask questions
seldom f'or
c|cr‘i‘b3 because
he Sives

attention when

The learner never
has to ask
questions for
c[cr‘itH because he
sives attention

when inst.ructions

siven instructions. | instructions are are siven.
siven.
Totdl /20
Totdl out of 10 20-2=_10




Reqcling

Gr‘ouP Guided Reqding

Read dloud f'rom your own book in a Suiclecl
r‘ecding group with the teacher. This means
the whole group reads the same st,or‘ﬂ or

non-Tiction text with the teacher. You will

be marked qccor‘cling to this rubric:

Rubric — Gr‘ouP Guided Reqding

|. WOPdS are Pr‘onounced COF‘PGCtlH.

2. Learner makes use of the readin
str‘qtegies tqught in the Home angque
to make sense and monitor self when
r‘eqding (Phonics, context c|ues, structurd

qnc|33is, sight words)

N N

3. Learner reads with incr‘ecsing f |uencH and

expression.

/P Shows an under‘stcncling of’ Punctuotion

when r‘eqcling aloud.

5. Reads with f ee|in8 and intonation.

Totdl




3l Sort the consonant cligr‘qphs in the box in the correct
co|umn. (|2+2:6)

kiss clif f

ClGSS e|ephont be" clr‘ess

nephew CIO" WG"

stuf'f tr‘oph3 boss

FF a oh-
T bel dress trophy
Stuff wal class nephew
dol kiss elephantt
boss

3.2. Use some of the words above to comP|ete the sentences.

(4+2=2)

a. The bog received a trophg when he won the race.
b. M3 nephew and niece are coming to visit.
c. There is about 23 children in each @.

CI. The cow l‘\GS a 90|den M qr‘ouncl l‘\IS nec|<.




3.3. Use the three-letter consonant blends at the beginning and
end of the words to comP|ete the words. (A+2:2)
str-, scr-, -t.ch, -nch

screw

lunch

Total: ___ /IO




Longuage

A.L ComP|ete the sentences bﬂ f i||in8 in "a" or "the". (A)

a. I am Soing to the qu‘k af ter school. 1o &
b. I would love to tell you a story. \_;@
c. We will go to t_l‘\e movies on Sqtur‘dqﬂ. o

d. I am r‘eqding a book.

4.2. Write the sentences in the qut tense. Use the words in the
blocks to he|P you. (3)

[ was ] [ were ] [ walking ]

a. It is cold.
Yester‘dcﬂ it was cold.
b. Ben walks to school.
Yester‘dcﬂ Ben was wc"(ing to school.

C. TOdGH we are at a CGmP.

Yester‘dcﬂ we were at a camp.

4.3. Read the sentences and colour in the correct word. (3)

a) The clog is are bqr‘king at the bog.

b) Theﬂ is are Pr‘qcticing for the school concert.

c) The gir‘| is are wc"(ing to school.

Total out of 0 =__/IO
Processed mark out of 20 (I0x2) = /20

7




Make a list in the table of five things You ke and five things You
don't like. Remember to write nect|3. (10)

Things T like Things T don't like

Lecr‘ner‘s own answers. Leqr\ner\s own answer

a. Choose one thing You ke and say b. Choose one thing You don't like

Whtd You ke it. Draw a Pictur‘e and say whﬂ You don't like it.
of it. (23) Draw a Picture of it. (23)
earners own answer and drqwing. Learners own answer and dr‘owing.

-

N\ )

1IN J

Total out of |5 for comP|etion of sentences= ___/I5
8




Rubric — Writing activitg

2

3

A

5

l. Line usage and qucinS - Manﬂ Some Few errors | Uses lines A|wc|ljs uses
° ow well did the errors in errors in using lines correctly | lines
learner use his line usage. line usage. corr‘ec‘dﬂ. most of corr‘ec‘dg.
L . an ome ew errors e time. ways uses
b broc? Many  |S F the time. | Alway
writing lines!
errors in errors in usins Uses proper
e How well did the
sPacinS. sPacinS. spccing proper spacing.
learner space
correct|3. sPacinS
their letters ost, of
and/or words? the time
2. Letter formation- Mcnﬂ Some Few errors | Most Consis‘ben‘uﬂ
; ; errors in errors in in letter etters orms a
Did the learner form his i i in lett lett. f I
letters corre Ct’lﬂ? letter letter formation. | are letters
formation. | formation. | Few formed cor‘r‘ec‘t,|8.
Incorrect | Letters letters corr‘ect|3.
letter formed are
formations. incor*r‘ec‘t,|3. formed
incor‘r‘ec‘t,|3.

3. Reqdqbihta — How equ is Mang Some Few errors Ver‘H /'\|wc13$ easy
it, to read the learners errors in errors in in easy to to read.
handwritin 97 readabihtg. r‘ecdabihtg. r‘eaclabihtg. read.

A. Neatness - How neat is Dif ficult Not, necthd Not as Writes A|wa'ds
the learner's to read. | done. neat|3 neat|3. writes
honclwr‘iting? done. neat.|3.

Total: ___ /20

Processed mark out of 30 (5x2) = /30
Total for wr‘iting section = ComP|ete sentences + Rubric mark

out of 30 + Mark out of 20

= Mark
=__ /50

9




